	TRADE : ELECTRONICS							
Sr.No	Name of Tools and Equipments	Specifications	Image of Tools and Equipments	Qty	Approx Price per Unit	Total		
1	Electronic Desoldering Vacuum	Electronic Spices Desoldering Vacuum Pump "Solder Sucker" Solder Removal Tool		2	300	600		
2	Temperature Adjustable Electric Soldering Iron	60W 220V Temperature Adjustable Electric Soldering Iron soldering iron 60 watt original soldering iron kit 60 watt Rework Station Handle Heat Pencil Tool		2	1000	2000		
3	Magnifier Soldering Stand	Hand Magnifier Soldering Stand with 2 LED lights for PCB Soldering Work (35X / 12X 65mm / 17mm Lens, Dual-Mode)		1	1500	1500		
4	Heat Insulation Silicone Magnetic Soldering Mat	Anti Static ESD Heat Insulation Silicone Magnetic Soldering Mat Heat Resistant Electronics Workbench for Soldering Iron Phone Computer Repair Size Large	P	2	1500	3000		
5	Wooden Extension Board	Portable Wooden Switch Board Electric Extension Board 1- Switch,4- Socket,15meter Wire with 1 Atteched 3 Pin Power Plug		2	500	1000		
6	Workwear suit	Robust Orange Reflective tape Suit,Unisex coveralls for industrial and protective use		2	1500	3000		
7	GLUE GUN	150 WATT GLUE GUN		1	1500	1500		
8	Medicine Emergency Kit	Multi-layer First Aid Kit Medicine Storage Compact Box Emergency Kit Cabinet Organizer Medical Box with all necessary medicines		1	1000	1000		
9	Drill Machine	Corded-Electric Tool Kit 100-piece Tools Box Kit Power Supply 500W Impact Drill Machine Impact Rate upto 41600 BPM Speed upto 2600 RPM 1 Yr Warranty		1	9000	9000		
10	Ceiling fan	1200 mm Ceiling Fan for Home BEE Star Rated Energy Efficient Fan Superior Air Delivery HighSpeed With Warranty	7	2	1500	3000		
11	Steam Iron	2000 W Steam Iron for clothes Uniform Heating & Fine Spray Iron Press Tank Capacity 220ml Adjustable Temperature Control & Steam burst		2	1200	2400		
12	Electric Screwdriver Drill Machine	500W Electric Screwdriver Drill Machine 100% Copper Winding LED LIGHT system 10mm (Left/Right rotation with Variable Speed)		1	3000	3000		
13	Hard Rubber Mat	Heavy Duty Long Lasting Rubber 8 X 5 FEET		1	6000	6000		

14	Wire Roll	Single Core Electrical Wire Any colour, 90 Meter, 1 SQ.MM. PVC electrical insulated copper wire Cable for Domestic & Industrial Connection purpose Flame Resistant		1	1500	1500
15	Wire Roll	Single Core Electrical Wire Any colour, 90 Meter, 2.5 SQ.MM. PVC electrical insulated copper wire Cable for Domestic & Industrial Connection purpose Flame Resistant		1	3500	3500
16	UPS	600VA Line Interactive UPS for Personal Computers , Desktop PCs,		1	3000	3000
17	LED Bulb Punching Machine	LED Bulb Punching Machine with Tikki Fitting Machine (Heavy Type) for LED Bulb Manufacturing (Silver)	P.2	1	7000	7000
18	Earth Tester	Digital Earth Resistance Tester with Testing it and Cables		1	10000	10000
19	Led bulb	LED Bulb 9W, 12W and 15W each Cool white light,	T T	6	400	2400
20	Multifunction Stainless Steel tool	Multifunction Stainless Steel Wire Puller Plier, Cable Looping, Splitting, Cutting Pliers Electrical Stripping Tool Wire Stripper And Crimping Tool for Electrician		2	1000	2000
21	Projector	Branded LED Projector having native resolution 1280*800 (WXGA) or higher.Brightness: 3800 or higher, Minimum life of light: 20,000 or higher, Optical zoom: Yes, 110 or higher, On -Site OEM warranty: 3 yrs or higher, HDMI input, In-built speaker. Wall/Ceiling mount.	Q.	1	28000	28000
22	Soldering Iron Stand	Electronic spices Soldering Iron Stand Nickel Plated Spring Holder		2	100	200
23	Hydrometer (specific Gravity tester)	Battery hydrometer specific gravity battery powered tester for inverter with voltage range 6,12,24V		2	700	1400
24	Spade	Electronic spices Soldering Iron Stand Nickel Plated Spring Holder		2	800	1600
25	Solar Earthing Kit	3 Copper Earthing Rod 1metre Each, Bentonite Chemical Earthing bag 30kg, 1 copper Lighting Arrester 1metre, Nut bolt with Washer-4sets, 4 Ring Lug(connecter)		1	16000	16000
26	Solar Panel Tester	Solar Panel Tester, Photovoltaic Multimeter 800W, Solar MPPT Meter with Large Ultra Clear LCD, Smart MPPT Open Circuit Voltage Troubleshooting, Data Test for Photovoltaic Modules		1	7500	7500
27	Professional Cutter	Professional Cutter 1450W Motor 125mm Blade 12,000 RPM 40mm Cutting Depth 3kg Lightweight Design Hex Key & Socket Wrench Included		1	5000	5000

28	Screw Driver Kit	Hanging Pouch Screw Driver Kit (Set of 8), green & chrome, 8 screw driver 713, 922, 725, 828, 912, 712, 937, p5 861 75	00 8	2	1000	2000
29	Combination Package Mixed Tool	Socket Wrench Auto Repair Tool Combination Package Mixed Tool Set Hand Tool Kit with Plastic Toolbox Storage Case		1	3500	3500
30	Heavy-Duty Toolbox	Heavy-Duty Portable metal Essential Toolbox With Clear Top Lid & Removable Tray Compartment For Easy & Convenient Storage		1	1000	1000
31	Screwdriver Set Small	Bi Material Handle Precision Screwdriver Set (6 Piece)		2	500	1000
32	Wire Cutting & Twisting Tool	225mm - High-Performance Chrome Vanadium Wire Cutting & Twisting Tool with Hardened Edges of 60 +/-2 HRC for Concrete & DIY Projects		2	800	1600
33	Degumming Hand Tool Set	Degumming Hand Tool Set for All Electronic Gadget Repair	7	2	600	1200
34	Tweezers Set	Multifunction Tweezers Set, Upgraded Professional Anti-Static Tweezers for Electronics, Tool Kit, SS Set of 6 (Stainless Steel)		2	250	500
35	multifunctional Pliers Tool Kit	5 in 1 multifunctional Pliers Tool Kit With 5 Interchangeable Heads Special For Electricians Combination Lineman Pliers,Cable Cutting,Wire Stripping,Crimping Tools,Sheet Metal Shear with Storage Box		2	1500	3000
36	Cutter	High Quality 3~42mm Cutter High Quality 3~42mm Cutter Pipe Cutter		2	800	1600
37	Brick Trowel	Mason tool for construction work, Metal blade with wooden or plastic handle		2	200	400
38	Outdoor camera	Day/Night vision outdoor bullet camera with warranty		2	2500	5000
39	Indoor Dome Camera	2MP Full HD Smart Wi-Fi CCTV Home Security Camera, 360° with Pan Tilt, View & Talk, SD Card (Upto 128 GB), IR Distance 10mtr, infrared LEDs and night-vision technology, Wireless	ANUTON	2	2000	4000
40	Digital Video Recorder	Branded 1080P Full HD 8 Channel Digital Video Recorder. with warranty		1	5000	5000
41	Hard Disk	Branded internal hard disk with 1TB memory under warranty		1	3000	3000

42	Wire	Branded 3+1 Coaxial Pure Copper CCTV Camera Cable (90 Meter) with warranty		1	1500	1500
43	Almirah	2 Door Mild Steel Office Almirah with inbuilt shelves (5ft *3ft)		1	8000	8000
44	Student Chair	Pvc shell backrest having powder coated finishing with mild steel frame	A CONTRACTOR OF THE PROPERTY O	40	700	28000
45	Fire Extinguisher (5 KG ABC type)	Carbon steel ABC dry powder type (5 Kg)	OR THE	1	1500	1500
46	Smoke Detectors	Power source - Battery, Color - White, Weight - 220 g, Sensor type - ionization	124	2	800	1600
47	LED Monitor	Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty		1	7500	7500
48	Wired Branded Keyboard Mouse Kit	USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys.Compatible with latest window version - with warranty		1	1000	1000
49	CPU (Central Processing Unit)	12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty)	PO 14	1	40000	40000
50	White Board	Whiteboard Drywipe Magnetic with Pen Tray and Aluminium Trim Dimensions: 6 ft x 4 ft		1	2000	2000
					Total	250000